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LITEIER | Rounding Practice

Round the the Nearest 10

Round the the Nearest 100

Round the the Nearest 1000

26 =

3H9=__
256=_____

382=______

346l=____
7387 =

o0090=_____

Round up the number underlined below.

£ 8 5 D & &2

Which two nhumbers
round to 30?

Which two humbers
round to 200?

Which two humbers
round to S000?

Jessica is planning a birthday party and needs 48 balloons. The

balloons are sold in packs of 10. Jessica needs to round her estimate
to the nearest tens. How many packs of balloons should Jessica buy?

a Cloud
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Yropediid | Rounding Worksheets

Round the the Nearest 10

Round the the Nearest 100

Round the the Nearest 1000

56 =_60

89=_90

349 =_300
125 =100

382 = _H00

346l = _3000
7387 =_/000

5090 =_2000

Round up the number underlined below.

& £ D 2 &2

Which two nhumbers
round to 30?

Which two humbers
round to S000?

Which two humbers
round to 200?

32 27 239 178 4578 5023

Jessica is planning a birthday party and needs 48 balloons. The
balloons are sold in packs of 10. Jessica needs to round her estimate
to the nearest tens. How many packs of balloons should Jessica buy?

O packs
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